OO0 18000 200
0 g g

2004 O O 0O 0O 0O oooiwh OOoOoOoOooooo

gbiled0obooboooboobooboobbooboooboooboobobobobob1yoob 2r0obOO
oboboboooobooobgz204 DO ooboboooboboboobobooDbo
gboooobooboobooobooobobooboboboobooboboobobobooboob

U ooobo
s A
oo i1e0 ooi1s0 ooo ooo
o O 0O 0O 00103 00O 003521 OO0 02486 OO0 00 10.60
o o 0O 0O 390 2609 O 410 4015 O oono 1406 O 05.20
ooooooo 110 1990 OO 110 3061 OO 01071 OO 0o0.90
§ o 0o oo o 00 7834 OO 00 6100 OO 1734 00O 3.80 )

ooboo0oboooooboboooboobboboboorsmobbooobob 4800000
oboooboobobooboomoooooo s mgoooooooooo 4.7y0boobobobd
oooooobooooboooobbooooboo b ooob o ooobobobooon
oooooobooono oo P00

U 0o 0Oobboboboboooooood
goboboobobooboboobbooooobooobooobbooobbooboobobo 3vooooo
ledfj400000000000DO0DODOODOO0OO0MIO0O0O0 1400016003 00000O0D0ODOO
gobooooboooooboon

0 ooboboboboobooboboboo

gobooobooobooobboooboboobboooboboobobooobooobooobo
gbog40000 48.800064.80 00000

U 0ooboooobboooobobobooobobboooboobobon

] |
0bu40b00boboooooo0ooobobOoDbOo s ooouboss5ugoooonooo.ogn

o0 549000000000 420000000

obooobo
gbooobgoooooo
oo 0 0O 00O 25-550
0 0O 00O 25-581
ooon 5388-2544




O

gboboboboboboobooobooooooooon

00 O0O0ooooOooooOoOooo@ooooooo
0 ooboobooboooboooooobooboo

[ looo 003900100 —x— 000
po 0 o ~w--0 O
18 N 000 —— 000
16 +
1500
14 +
12 +
10 + 1000
8,
6,
500
41 o
"713.6|/0.5
2+ g 100
0 — 0
'b°’<>
<&
& &
00 0000O0ODOO0O00000O0O0ODOODOOO0OO0O0OO0OOO
- [ o O
10 . ENoooo
[ [sfufululn
7.8
6.0 6.1
5,
3.9
2.5 2.4]1.3 1.4 2.611 3
0.5 0.7 0.6
0.1 0.1
0
O O <O O
<>rb°) <>@ <></JOJ <><> 0\9
& & & & &
00 0000000000000 00 0000000000000 0D00000000
0oooooooo ooooooooo
Dooo@oo RN G
poo | oo | ooo noo | oo | ooo
00390 40 898 35 805 5088 0030 0000 5 003 3 847 1 156
0 0 490 104 445 79 596 24 834 0ooooo 2 681 1 354 1 327
0 0590 170 408 110 553 59819 00490 0O O0OO 18 559 11 404 7 155
0ooo 163 236 85 076 78 115 ooooo 8 614 2 799 5 815
00 160 111 990 50 998 60 954 0O0O590 0O OO0 44 026 20 005 24 021
00 00390 0000000000000000000 ooooo 16 070 3 276 12 792
vbooooooooooaooaod oooo 0000 45 781 7 005 38 777
00 0D0O0O0OD0DODODO0OO0OD00O0000000000Q ooooo 16 503 2 135 14 367
nboooobooooooobooona 0o1.0 0000 29 610 3 487 26 123
ooooo 14 155 804 13 351




0 goooodoboodooooooooooooobooobobbbbobobooobooo

00 O0bOO0oo0obobOoobOoooobOooboobogon
oooooboooo

60 D [ Jooo
[ Jooaiso
50 [ Jooieo
40
30
20 -
10 -
0
<& <& <&
<>0 & 00
OO0 0000000000000 O0O0O0O0000
0000000000000 0D0OD0OODOOO0O0
70 - O [ ]Jooio
o = [ Jooiso
60 ] — [ Jooaien
50 —— —
40 | B =
30 -
20 +
10 -
0
& & & & & &
& 5 ¥ 3 § o
v ¥ ¢ & & ¢
N o5 § n?



